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SECTION A – (10 × 2 = 20 marks)
(Q.No. 1-12) Answer any TEN questions

1.  From the following calculate funds from operation. Goodwill written off ` 5,000; General reserve                
        provided ` 3,000; Dividend paid ` 7,000; Preliminary expenses written off ` 2,500; Profit on   
        sale of machinery `1,000; Net profit for the year ` 8,000.
2.    What is cash flow statement?
3.    What is solvency ratio?
4.    Mention the three uses of ratio analysis.
5.  Calculate Debtors turnover ratio:  Credit sales-`3,60,000 ; Debtors-` 10,000;  Bills receivable-   
         ` 2,000.
6.    List the objectives of budgetary control.
7.    Write a note on sales budget.
8.    What is margin of saftey?
9.    What is marginal costing?
10.   Calculate PV Ratio:
	
	Period I
	Period II

	Sales
	45,000
	50,000

	Profit	
	40,000
	43,000



11.   What do you understand by ‘standard hour’?
12.  From the following data, calculate Labour cost variance-and  Labour rate variance Budgeted labour   
        for completing job X:
                     8 Skilled workers at ` 10 per hour for 20 hours
                     12 Unskilled workers at ` 8 per hour for 20 hours
        Actual labour for completing job: X:
                    12 skilled workers at ` 11 per hour for 20 hours
                    13 Unskilled workers at ` 7 per hour for 20 hours.


SECTION B – (5 × 5 = 25 marks)
(Q.No. 13-19)Answer any FIVE questions

          13.   Distinguish between fund flow and cash flow statement.
          14.   Calculate Gross Profit ratio from the following:

	Sales
	10,00,000

	Sales returns
	1,00,000

	Opening stock
	2,00,000

	Purchases
	6,00,000

	Purchase returns
	1,50,000

	Closing stock
	65,000
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         15.   Prepare a flexible budget for overheads on the basis of the following data.  Ascertain overhead rates   
                  at 50%, 60% and 70% capacity. 

	Variable overheads
Indirect material	
Indirect labour	
	At 60% capacity (`)

	
	6,000
18,000

	Semi variable overheads
Electricity (40% fixed, 60% variable)
Repairs (80% fixed, 205 variable)
	
30,000

	Fixed overheads
Depreciation
Insurance
Salaries
	
16,500
4,500
15,000

	Total overheads	
	93,000

	Estimated direct labour hours	
	1,86,000



        16.     State the limitations of zero based budget.

        17.      From the following data, determine the break-even point. 

	Fixed overhead
	` 25,000

	Variable cost
	`10 per unit

	Selling price
	` 15 per unit


                    
                   What should be the sales volume to make a profit of ` 25,000?

        18.      What is Break even analysis? Discuss its assumptions and uses?

        19.      Calculate material cost variances from the following data.

	
	Standard 
	Actual 

	Quantity 
	400 kgs
	460 kgs

	Price
	`2 per kg 
	`1.5 per kg

	Value 
	`800 
	`690














SECTION C – (2 × 15 = 30 marks)
(Q.No. 20-23)Answer any TWO questions

       20.     From the following balance sheet of X Ltd on 31st Dec. 1995 and 1996, you are required to  prepare:
                 A Schedule of changes in Working Capital
                 A Funds flow Statement
	Liabilities
	1995
	1996
	Assets
	1995
	1996

	Share capital
	1,00,000
	1,00,000
	Goodwill
	12,000
	12,000

	General Reserve
	14,000
	18,000
	Building 
	40,000
	36,000

	P&L A/c 
	16,000
	13,000
	Plant 
	37,000
	36,000

	Creditors
	8,000
	5,400
	Bills Receivable
	2,000
	3,200

	Bills Payable
	1,200
	800
	Debtors
	18,000
	19,000

	Provision for Tax
	16,000
	18,000
	Bank
	6,600
	15,200

	Provision for Doubtful Debts
	400
	600
	Investments
	10,000
	11,000

	
	
	
	Stock
	30,000
	23,400

	
	1,55,600
	1,55,800
	
	1,55,600
	1,55,800



The following additional information has also been given
Depreciation charged on plant was `4,000 and on building was `4,000.
Provision for Tax of `19,000 was made during the year 1996.
Interim Dividend of ` 8,000 was paid during the year 1996.

       21.   Write the following information relating to SVP. Ltd in respect of the year ended 31-12-1988, prepare    
                 a trading and profit and loss account.

	Gross profit ratio 
	25%

	Net profit ratio	
	20%

	Stock turnover ratio	
	10

	Net profit /capital	
	1/5

	Fixed assets/ capital 
	5/4

	Fixed assets	
	`6,00,000

	Closing stock 
	`48,000
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       22.     The sales turnover and profit during two years were as follows:
	Year 
	Sales (`) 
	Profit (`) 

	1999
	1,50,000
	20,000

	2000
	1,70,000
	25,000



You are required to calculate:
a) P/V Ratio
b) Break even point 
c) Sales required to earn a profit of ` 40,000
d) Profit when sales are `2,50,000
e) Margin of safety at a profit of ` 50,000
f) Variable cost of the two periods.

        23. From the following details, calculate fixed overhead variances:

	Budgeted fixed overhead
	`12,000

	Budgeted output in units 
	20,000

	Budgeted hours
	10,000

	Actual fixed overhead
	`10,000

	Actual output in units
	16,000

	Actual hours 
	10,000
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